
Bel-Halo DENTAL LIGHT

PARTS LIST

(D240 Series)





PAGE

1 . HEAD SECTION ------------------------------------------------------------------------ 4

2 . ARM SECTION (D241, D242) --------------------------------------------------------- 6

3 . ARM SECTION (D245, D247, D248) ------------------------------------------------- 8

4 . ARM SECTION (D247, D248) --------------------------------------------------------- 10

5 . ARM SECTION (D246G-QU/EV) ------------------------------------------------------ 12

6 . ARM SECTION (D249) ----------------------------------------------------------------- 14

7 . POWER SUPPLY BOX (D241) -------------------------------------------------------- 16

8 . POWER SUPPLY BOX (D242) -------------------------------------------------------- 18

9 . POWER SUPPLY BOX (D245) -------------------------------------------------------- 20

10 . POWER SUPPLY BOX (D247) -------------------------------------------------------- 22

11 . POWER SUPPLY BOX (D248) -------------------------------------------------------- 24

12 . POWER SUPPLY BOX (D246G-QU) ------------------------------------------------- 26

13 . SWITCH BOX (D246G-QU)------------------------------------------------------------ 28

14 . TRANSFORMER BOX SECTION (D246G-EV, D249) ------------------------------- 30

15 . SWITCH BOX (D246G-EV, D249W-X)------------------------------------------------ 32

16 . SWITCH BOX (D249W-XN)------------------------------------------------------------ 34

17 . TROLLEY AND RAIL SECTION (D245) ----------------------------------------------- 36

18 . CEILING POLE SECTION (D242) ----------------------------------------------------- 38

WIRING DIAGRAM

1 .AL-D241G / AL-D241W --------------------------------------------------------------- 40

2 . AL-D242G ------------------------------------------------------------------------------- 41

3 .AL–D245G ------------------------------------------------------------------------------ 42

4 .AL–D247G ------------------------------------------------------------------------------ 43

5 . AL–D248G ------------------------------------------------------------------------------ 44

6 . AL-D246G-QU-------------------------------------------------------------------------- 45

7 . AL-D246G-EV / AL-D249W-X*-------------------------------------------------------- 46

8 . AL-D246G-EV--------------------------------------------------------------------------- 47

TABLE OF CONTENTS

3



HEAD SECTION

26

28

30

17

1

16

29

31
33

8

21

9

24

23

27

13

4

19

6

3

20

14

12

10

2

11

185

22

26

25

32

7

34

15

BACK TO TOC

4



NO. PARTS NO. DESCRIPTION QTY
APPLICABLE
SERIAL NO.

NOTE

1 1P03KQA0 YOKE WITH BUSH (CN-80) 1

1P034FA0 YOKE WITH BUSH (RAL9003)

2 1P03GFA0 SECOND YOKE  WITH ROLL PIN (CN-80) 1

1P03M3A0 SECOND YOKE  WITH ROLL PIN (RAL9003)

3 1A0WFYA0 OUTER FRAME COVER (CN-80) 1

1A0WFXA0 OUTER FRAME (RAL9003)

4 1G095TA0 LED MODULE 1

5 1A07JHB0 LENS COVER 1

6 1A07JJA0 REFLECTOR 1

7 1A07JKA0 OUTER FRAME COVER (CN-80) 1

1A081NA0 OUTER FRAME COVER (RAL9003)

8 1A07JLA0 YOKE COVER (CN-80) 1

1A081MA0 YOKE COVER (RAL9003)

9 1A07JMB0 LED DISPLAY COVER 1

10 1A07JNC0 VOLUME GRIP 1

11 1A07JPB0 YOKE CAP (CN-80) 2

12 1A07JQA0 YOKE PACKING (CN-80) 1

13 1A07JRB0 HEAD ROTATION SHAFT (FIXED) 1

14 1A07JSB0 HEAD ROTATION YOKE SHAFT(ADJUSTMENT) 1

15 1A07JTB0 NUT FOR PATTERN ROTATION 1

16 1A07JUA0 SLIDE WASHER FOR YOKE ROTATION 2

17 1A07JVA0 SLIDE WASHER FOR HEAD ROTATION SHAFT 1

18 1A07JWA0 SENSOR COVER 1

19 1A07JYA0 SLIDE WASHER 1

20 1A0829B0 BELMONT LOGO LABEL 1

21 1A07K0A0 PLATE FOR PATTERN ROTATION 1

22 1A07L6B0 HANDLE (CN-80) 2

23 1A07M9A0
VOLUME PART OF INTENSITY CONTROL WITH
HARNESS

1

24 1G027ZC0 LED DISPLAY PCB 1

25 1G027TD0 SENSOR PCB ASSY 1

26 CAHC89A0 WASHER 24x14.2x0.5 2

27 CEFN35A0 ROLE PIN WAVEFORM M2.5x6 SUS 1

28 CEIA10A0 WAVE WASHER 2

29 CENX96A0 WAVE WASHER 2

30 ZA111JPY PAN HEAD SEMS SCREW M3x8 CHROME 7

31 CAGP69B0 YOKE STOP SCREW 1

32 1G027VA0 YOKE COVER ASSY (CN-80) 1

1G02E1A0 YOKE COVER ASSY (RAL9003)

33 CGGN66A0 YOKE SHAFT SET 1

34 1P072GA0 LIGHT HEAD ASSY (CN-80) 1

1P072FA0 LIGHT HEAD ASSY (RAL9003)

5



4

1

33

2

ARM SECTION (D241, D242)

5

5

BACK TO TOC

6



NO. PARTS NO. DESCRIPTION QTY
APPLICABLE
SERIAL NO.

NOTE

1 1P078EA0
BALANCE ARM ASSY FOR POST/CELING MOUNT
TYPE (CN-80)

1

1P078FA0
BALANCE ARM ASSY FOR POST/CELING MOUNT
TYPE (RAL9003)

2 1A087KA0 LIGHT CABLE IN ARM (D241/D242) 1

3 CARA01A0 ROTATION PART COVER 2

4 1A07K8A0 JOINT COVER (CN-80) 1

1A0821A0 JOINT COVER (RAL9003)

5 CAMP65A0 LARGE STOPPER (6 NYLON) 2

7



1

ARM SECTION (D245, D247, D248)

6

4

33

5

5

BACK TO TOC

2

8



NO. PARTS NO. DESCRIPTION QTY
APPLICABLE
SERIAL NO.

NOTE

1 1P039QA0 BALANCE ARM ASSY (CN-80) 1

2 1A087SA0 LIGHT CABLE IN ARM 1

3 CARA01A0 ROTATION PART COVER 2

4 1A07K8A0 JOINT COVER (CN-80) 1

5 CAMP65A0 LARGE STOPPER (6 NYLON) 2

6 1A084SB0 EXTENSION (CN-80) 1

9



ARM SECTION (D247, D248)

1

3

4

7
9

8
3

10

6

5

FOR D247

FOR D248

BACK TO TOC

2

2

10



NO. PARTS NO. DESCRIPTION QTY
APPLICABLE
SERIAL NO.

NOTE

1 1A0AH6A0 LIGHT POLE FOR CABINET MOUNT(CN-80) 1

2 1A09GUB0 LIGHT CABLE IN ARM (D247) 1

1A09GNA0 LIGHT CABLE IN ARM (D248)

3 ZA772NPY HEX SOCKET SET SCREW M5X8 CHROME 4

4 1A0ALVA0 LIGHT POLE FOR WALL MOUNT (CN-80) 1

5 ZA88JLPY PAN HEAD SEMS SCREW 3P M4X8 CHROME 2

6 CATP03B0 COVER FOR BRACKET 1

7 CATP04A0 RETAINER METAL 1

8 1A0ALZA0 FRONT TOP COVER 1

9 CATN92A0 POLE DISK 1

10 ZA112L#U FLAT HEAD SCREW M4X15 SUS 2

11



ARM SECTION (D246G-QU/EV )

33

1

2

4

4

5

5

5

5

BACK TO TOC

12



NO. PARTS NO. DESCRIPTION QTY
APPLICABLE
SERIAL NO.

NOTE

1 1P078BA0
BALANCE ARM ASSY FOR UNIT MOUNT TYPE
D246G-QU (CN-80)

1 FOR QUOLIS

1P078CA0
BALANCE ARM ASSY FOR UNIT MOUNT TYPE
D246G-EV (CN-80)

FOR EVOGUE

2 1A086VA0 LIGHT CABLE IN ARM FOR D246G-QU 1 FOR QUOLIS

1A089TB0
LIGHT CABLE IN BALANCE ARM FOR D246G-EV/
D249W-X,XN

FOR EVOGUE

3 CARA01A0 ROTATION PART COVER 2

4 CATP10A0 STOPPER RL L=7.5 (6 NYLON) 2

5 CAMP65A0 LARGE STOPPER (6 NYLON) 4

13



ARM SECTION (D249)

1

33

5

5

4

4

5

5

BACK TO TOC

2

14



NO. PARTS NO. DESCRIPTION QTY
APPLICABLE
SERIAL NO.

NOTE

1 1P078DA0
BALANCE ARM ASSY FOR UNIT MOUNT TYPE
(RAL9003)

1 FOR X-CALIBUR

2 1A089TB0
LIGHT CABLE IN BALANCE ARM FOR D246G-EV/
D249W-X,XN

1

3 CARA01A0 ROTATION PART COVER 2

4 CATP10A0 STOPPER RL L=7.5 6 NYLON 2

5 CAMP65A0 LARGE STOPPER (6 NYLON) 4

15



POWER SUPPLY BOX (D241)

11

22

20

4

12

21

8

5

23

18

24

7

10

1

9

15

6

2

3

25

17

16

31

30

13 14

19
28

26
27

19 32

33

28 27

TILL MARCH 2024 PRODUCTION

FROM APRIL 2024 PRODUCTION

29

BACK TO TOC

16



NO. PARTS NO. DESCRIPTION QTY
APPLICABLE
SERIAL NO.

NOTE

1 1A07PGA0 TRANSFORMER BOX (CN-80) 1

1A082HA0 TRANSFORMER BOX (RAL9003)

2 1G08K8A0 SWITCHING POWER PCB 1

3 ZA88JJPY PAN HEAD SEMS SCREW 3P M3x8 CHROME 5

4 ZA88JJUY PAN HEAD SEMS SCREW 3P M3x16 CHROME 3

5 1E00UKA0 UPSET HEAD BOLT 2P M4X6 CHROME 2

6 CADQ35A0 CODE BUSH PANEL (70) 1

7 CEGN46A0 CODE BUSH 1

8 CAML90B0 CODE HOOK TERMINAL BLOCK 1

9 ZB552LAY EXTERNAL TOOTH WASHER M4 CHROME 1

10 ZA88JLRL PAN HEAD SEMS SCREW 1

11 1G0803E0 LIGHT CONTROL PCB 1

12 ZA88JLRY PAN HEAD SEMS SCREW 3P M4x10 CHROME 4

13 1A07PLA0 SWIVEL ARM (CN-80) 1

14 1A07PHA0 TRANSFORMER BOX COVER (CN-80) 1

1A082JA0 TRANSFORMER BOX COVER (RAL9003)
15 1A0XNAA0 POWER CODE 1
16 1A07W1B0 ROTATION SHAFT 1
17 CAND32A0 WASHER 43X29X0.8 1
18 CENX94A0 C-RING 1

19 1A0ZV0A0 SENSOR/MANUAL MODE SWITCH ASSY WITH WIRE 1
PREVIOUS CODE:
1A0STYB0

20 1G0A33A0 NOISE FILTER 1
TILL MARCH 2024
PRODUCTION

1G0ASLA0 NOISE FILTER
FROM APRIL 2024
PRODUCTION

21 ZA812LAY HEX NUT M4 CHROME 1

22 ZA901JAY FLANGE NUT M3 CHROME 2

23 1A07W2A0 ROTATION STOPPER BOLT M8 1

24 ZB511PAY SPRING WASHER M8 CHROME 1

25 ZA887JTY PAN HEAD SEMS SCREW 2P M3x14 CHROME 1

26 -
DISCONTINUED. FOR REPLACEMENT, PLEASE ORDER
NO.29.

1
TILL MARCH 2024
PRODUCTION

27 CEEN94A0 FUSE 250V 0.8A (T) 2

28 AEFR93B0 FUSE HOLDER 250V-10A 2

29 1P080EA0
ROCKER SWITCH WITH PLATE AND HARNESS
(D241/CN80)

1
TILL MARCH 2024
PRODUCTION

1P080DA0
ROCKER SWITCH WITH PLATE AND HARNESS
(D241/RAL9003)

30 1A0XGTA0 BRACKET FOR CONTROL PCB 1

31 CERN39A0 DOUBLE LOCKING SPACER 4

32 1E09JTA0 ROCKER SWITCH 1
FROM APRIL 2024
PRODUCTION

33 1G09CRA0
BACK PLATE ASSY FOR ROCKER SWITCH SPEC.
(D241) (CN80)

1
FROM APRIL 2024
PRODUCTION

1G09CTA0
BACK PLATE ASSY FOR ROCKER SWITCH SPEC.
(D241) (RAL9003)

17



POWER SUPPLY BOX (D242)

4

8
5

23

18

24

7

10

1

9

15

6

2

3

17

16

11

22

20

12

21

25

13

14

31

30

1926
27 28

1932

33

27 28
29

TILL MARCH 2024 PRODUCTION

FROM APRIL 2024 PRODUCTION

BACK TO TOC

18



NO. PARTS NO. DESCRIPTION QTY
APPLICABLE
SERIAL NO.

NOTE

1 1A07PGA0 TRANSFORMER BOX (CN-80) 1

2 1G08K8A0 SWITCHING POWER PCB 1

3 ZA88JJPY PAN HEAD SEMS SCREW 3P M3x8 CHROME 5

4 ZA88JJUY PAN HEAD SEMS SCREW 3P M3x16 CHROME 3

5 1E00UKA0 UPSET HEAD BOLT 2P M4X6 CHROME 2

6 CADQ35A0 CODE BUSH PANEL (70) 1

7 CEGN46A0 CODE BUSH 1

8 CAML90B0 CODE HOOK TERMINAL BLOCK 1

9 ZB552LAY EXTERNAL TOOTH WASHER M4 CHROME 1

10 ZA88JLRL PAN HEAD SEMS SCREW 3P M4x10 BS 1

11 1G0803E0 LIGHT CONTROL PCB 1

12 ZA88JLRY PAN HEAD SEMS SCREW 3P M4x10 CHROME 4

13 1A07PLA0 SWIVEL ARM (CN-80) 1

14 1A07PHA0 TRANSFORMER BOX COVER (CN-80) *COATED 1

15 1A0XNBA0 POWER CORD 1

16 1A07W1B0 ROTATION SHAFT 1

17 CAND32A0 WASHER 43X29X0.8 1

18 CENX94A0 C-RING 1

19 1A0ZV0A0 SENSOR/MANUAL MODE SWITCH ASSY WITH WIRE 1
PREVIOUS CODE:
1A0STYB0

20 1G0A33A0 NOISE FILTER 1
TILL MARCH 2024
PRODUCTION

1G0ASLA0 NOISE FILTER
FROM APRIL 2024
PRODUCTION

21 ZA812LAY HEX NUT M4X0.7 1

22 ZA901JAY FLANGE NUT M3 CHROME 2

23 1A07W2A0 ROTATION STOPPER BOLT M8 1

24 ZB511PAY SPRING WASHER M8 CHROME 1

25 ZA887JTY PAN HEAD SEMS SCREW 2P M3x14 CHROME 1

26 -
DISCONTINUED. FOR REPLACEMENT, PLEASE ORDER
NO.29.

1
TILL MARCH 2024
PRODUCTION

27 CEEN94A0 FUSE 250V 0.8A (T) 2

28 AEFR93B0 FUSE HOLDER 250V-10A 2

29 1P080FA0
ROCKER SWITCH WITH PLATE AND HARNESS
(D242/RAL9003)

1
TILL MARCH 2024
PRODUCTION

30 1A0XGTA0 BRACKET FOR CONTROL PCB 1

31 CERN39A0 DOUBLE LOCKING SPACER 4

32 1E09JTA0 ROCKER SWITCH 1
FROM APRIL 2024
PRODUCTION

33 1G09CWA0
BACK PLATE ASSY FOR ROCKER SWITCH SPEC.
(D242) (CN80)

1
FROM APRIL 2024
PRODUCTION

19



6

12

5

13

2

3

9

8

1

13

7

11

10

POWER SUPPLY BOX (D245)

14

FROM APRIL 2024 PRODUCTION

TILL MARCH 2024 PRODUCTION

4

15

BACK TO TOC

20



NO. PARTS NO. DESCRIPTION QTY
APPLICABLE
SERIAL NO.

NOTE

1 DESR05A0 SPACER 4

2 1G08K8A0 SWITCHING POWER PCB 1

3 ZA887LPY PAN HEAD SEMS SCREW 2P M4x8 CHROME 8

4 1G0803E0 LIGHT CONTROL PCB 1

5 1A0ZV0A0 SENSOR/MANUAL MODE SWITCH ASSY WITH WIRE 1
PREVIOUS CODE:
1A0STYB0

6 1G0ASMA0 NOISE FILTER ASSY 1

7 1G09CYA0 POWER SUPPLY BOX ASSY 1
FROM APRIL 2024
PRODUCTION

8 ZB552LAY EXTERNAL TOOTH WASHER M4 CHROME 1

9 ZA88JLNM PAN HEAD SEMS SCREW 3P M4x6 BSNI 1

10 CEEN94A0 FUSE 250V 0.8A (T) 2

11 AEFR93B0 FUSE HOLDER 250V-10A 2

12 1E09JTA0 ROCKER SWITCH 1
FROM APRIL 2024
PRODUCTION

13 1E01HHA0 TRUSS M4X8 RAL9003 4

14 1P080GA0 ROCKER SWITCH WITH BOX AND HARNESS (D245) 1
TILL MARCH 2024
PRODUCTION

15 -
DISCONTINUED. FOR REPLACEMENT, PLEASE ORDER
NO.14.

1
TILL MARCH 2024
PRODUCTION

21



POWER SUPPLY BOX (D247)

4

5

3

2

1

13

6

BACK TO TOC

TILL DECEMBER 2024 
PRODUCTION

FROM JANUARY 2025 
PRODUCTION

7

11

8
9

10
12

22



NO. PARTS NO. DESCRIPTION QTY
APPLICABLE
SERIAL NO.

NOTE

1 1G0803E0 LIGHT CONTROL PCB 1

2 DESR05A0 SPACER 4

3 1G08K8A0 SWITCHING POWER PCB 1

4 1A07X1E0 COVER FOR POWER PCB 1

5 ZA887LPY PAN HEAD SEMS SCREW 2P M4X8 CHROME 2

6 1G0ASNA0 NOISE FILTER ASSY WITH WIRE 1
PREVIOUS CODE:
1G0A3VA0

7 CENX56B0 MAIN SWITCH 1
TILL DECEMBER
2024 PRODUCTION

8 AEFR93B0 FUSE HOLDER 2

9 CEEN94A0 FUSE 250V 0.8A (T) 2

10 1A0SU4A0 SENSOR/MANUAL SWITCH ASSY 1

11 1E09JTA0 ROCKER SWITCH 1
FROM JANUARY
2025 PRODUCTION

12 1A07PYC0 SPACER FOR SENSOR/MANUAL MODE SWITCH 1

13 1G09RXA0 POWER PCB BOX (D247) 1

23



POWER SUPPLY BOX (D248)

22

4

26

3

28

7

5

6

10

27

20

17

21

15

13

25

8
9

11

12

23

24

2

16

18

1

14

19

BACK TO TOC

24



NO. PARTS NO. DESCRIPTION QTY
APPLICABLE
SERIAL NO.

NOTE

1 1A0QB3A0 WALL PLATE FOR EPA 1

2 DESR05A0 SPACER 4

3 1G08K8A0 SWITCHING POWER PCB 1

4 1E02FBA0 SNAP COLOR BUSH 2

5 1A0STXA0 TRUNK LINE FOR ADJUST PULSE 1

6 1A07MPA0 TRUNK LINE A FOR CONTROL PCB 1

7 1A07MRA0 TRUNK LINE FOR LED MODULE 1

8 1A04CZA0 CT CODE 2000L 1

9 1A04CXA0 EARTH WIRE 200L 1

10 1G0A3DA0 NOISE FILTER ASSY 1

11 CERN39A0 SPACER 4

12 1G0803E0 LIGHT CONTROL PCB 1

13 1A0SU8A0 TRUNK LINE A FOR SENSOR/MANUAL SWITCH 1

14 1G0827A0 FRONT COVER SET (CN80) 1

15 1A0ALYA0 FRONT COVER (CN80) 1

16 1A0SU9A0 SENSOR/MANUAL MODE SWITCH ASSY WITH WIRE 1

17 1A07PYC0 SPACER FOR SENSOR/MANUAL SWITCH 1

18 AEFR93B0 FUSE HOLDER 250V-10A 2

19 CEEN94A0 FUSE 250V 0.8A (T) 2

20 CATP11C0 LABEL FOR SENSOR/MANUAL MODE SWITCH 1

21 CAEP84B0 FUSE LABEL 0.8 A (T) 1

22 ZA761QYU HEX SOCKET HEAD SCREW M10x25 SUS 8

23 CETN56A0 HEX SOCKET HEAD SCREW M8x32 BLACK CHROME 4

24 ZSA11PZG HEX BUTTON HEAD SCREW M8x30 BLACK 1

25 ZA88JLRY PAN HEAD SEMS SCREW 3P M4x10 CHROME 4

26 ZA111LUC PAN HEAD SCREW M4x16 CHROME 2

27 ZA88JJPY PAN HEAD SEMS SCREW 3P M3x8 CHROME 2

28 ZA114LNY TRUSS M4x6 CHROME 2

25



POWER SUPPLY BOX (D246G-QU)

1

6

7

5

4

3

2

8

BACK TO TOC

26



NO. PARTS NO. DESCRIPTION QTY
APPLICABLE
SERIAL NO.

NOTE

1 1A07Z9B0 POWER PCB BOX 1

2 ZA88JJPY PAN HEAD SEMS SCREW 3P M3x8 CHROME 2

3 1A08AGC0 NOISE FILTER ASSY 1

4 AEFR93B0 FUSE HOLDER 250V-10A 1

5 1G08K8A0 SWITCHING POWER PCB 1

6 1G07PBE0 LIGHT CONTROL PCB FOR QUOLIS 1

7 DESR05A0 SPACER 4

8 CEEN94A0 FUSE 250V 0.8A (T) 1

27



SWITCH BOX (D246G-QU)

4

2 3
1

5

BACK TO TOC

28



NO. PARTS NO. DESCRIPTION QTY
APPLICABLE
SERIAL NO.

NOTE

1 1A086ZA0 SENSOR/MANUAL MODE SWITCH ASSY WITH WIRE 1

2 1A07PYC0 SPACER FOR SENSOR/MANUAL SWITCH 1

3 1E00V3A0 WASHER M6x16x1.0 CHROME 1

4 CEGN75A0 EDGE SADDLE 2

5 1P081KA0 SWITCH BOX ASSY FOR D246G-QU

29



TRANSFORMER BOX SECTION (D246G-EV, D249)

8

4

3

11

2

5

1

6

7

10

9

12

13

BACK TO TOC

30



NO. PARTS NO. DESCRIPTION QTY
APPLICABLE
SERIAL NO.

NOTE

1 DESR05A0 SPACER 8

2 1G08K8A0 SWITCHING POWER PCB 1

3 1A0SUFA0 TRUNK LINE FOR POWER PCB 1

4 1G02MBA0 AIR SWITCH CYLINDER ASSY WITH TUBING & FITTING 1

5 1G0A3WA0 TERMINAL BLOCK ASSY 1

6 ZA887JTY PAN HEAD SEMS SCREW 2P M4x8 CHROME 2

7 AEFR93B0 FUSE HOLDER 250V-10A 2

8 1A10AXA0 CT CODE 1000L 1
PREVIOUS CODE:
1A04D6A0

9 1A0H4TB0 AIR SWITCH 1

10 1E00A7A0 WASHER M10X22X2.4 CHROME 1

11 ZB551QAY INTERNAL TOOTH WASHER M10 CHROME 1

12 1G0A3UA0 NOISE FILTER ASSY 1

13 CEEN94A0 FUSE 250V 0.8A (T) 2

31



SWITCH BOX (D246G-EV , D249W-X)

3

4

6

2

5

7

8

9

10

1

BACK TO TOC

32



NO. PARTS NO. DESCRIPTION QTY
APPLICABLE
SERIAL NO.

NOTE

1 1P081MA0 SWITCH BOX ASSY (RAL9003) FOR D249W-X 1

1P081PA0 SWITCH BOX ASSY (CN80) FOR D246G-EV

2 CERN39A0 DOUBLE LOCKING SPACER 4

3 1G0803E0 LIGHT CONTROL PCB 1

4 1A0SUJA0 SENSOR/MANUAL MODE SWITCH ASSY WITH WIRE 1

5 CETN14A0 EDGE SADDLE FOR CABLE PROTECTION 1

6 CETN13A0 CLAMP WITH SPONGE 1

7 1A0HMYA0 LABEL FOR S/M MODE SWITCH 1

8 CATN46CR SWITCH BOX COVER (RAL9003) 1

1A0HVWA0 SWITCH BOX COVER (CN80)

9 1E00VTA0 PAN HEAD SEMS SCREW M4x10 RAL9003 2

1A033FA0 PAN HEAD SCREW M4x10 CN80

10 1A0SUHA0 TRUNK LINE FOR ADJUST PULSE 1

33



SWITCH BOX (D249W-XN)

5

4

3

6

7

2

1

BACK TO TOC

34



NO. PARTS NO. DESCRIPTION QTY
APPLICABLE
SERIAL NO.

NOTE

1 1P081RA0 SWITCH BOX ASSY FOR D249W-XN 1

2 ZA887LPU PAN HEAD SEMS SCREW 2P M4x8 SUS 2

3 1G0803E0 LIGHT CONTROL PCB 1

4 1A0SUJA0 SENSOR/MANUAL MODE SWITCH ASSY WITH WIRE 1

5 CERN39A0 DOUBLE LOCKING SPACER 4

6 CETN14A0 EDGE SADDLE FOR CABLE PROTECTION 1

7 1A0SUHA0 TRUNK LINE FOR ADJUST PULSE 1

35



TROLLEY AND RAIL SECTION (D245)

1

9

3

6

16

10

2

14 12

13

15

8
11

11

18

17

* Unnecessary if the pole length is
shorter than 480mm

7

6

5

4

BACK TO TOC

36



NO. PARTS NO. DESCRIPTION QTY
APPLICABLE
SERIAL NO.

NOTE

1 1A0824A0 RAIL (HAMMER NET COATED, CN-80) 1

2 CAML90B0 CODE HOOK TERMINAL BLOCK 1

3 CAMG90A0 CENTRE COVER HOOK 1

4 1G0133A0 PULLEY ASSY WITH STICKER 1

5 1A0QSDA0 PALLET 1

6 ABNL23A0 STOPPER 5

7 1G02EEA0 END COVER ASSY (CN-80) 1

8 1P03CYA0 CENTER COVER ASSY (CN-80) 1

9 CAMG95A0 TROLLEY COLLAR (COATED) 1

10 CAMV63A0 LEAD WIRE GUIDE 1

11 CENZ15A0 NYLON CLAMP 2

12 1P08PDA0 ROLLER UPPER ASSY 4

13 1P08PEA0 ROLLER LOWER ASSY 4

14 1A0823D0 TROLLEY (HAMMER NET COATED, CN-80) 1

15 1A087RA0 YOKE RELAY CODE A 1

16 CAMP73B0 LEAD WIRE COVER 1

17 1A087TA0 YOKE RELAY CODE C 1

18 1G02U2A0 T POLE SET 380L (CN-80) 1

1G02U3A0 T POLE SET 530L (CN-80)

1G02U4A0 T POLE SET 680L (CN-80)

1G02U5A0 T POLE SET 840L (CN-80)

1G02U6A0 T POLE SET 1000L (CN-80)

- 1G009XA0 PALLET SCREW SET 1

- CGRN39B0 TRACK SCREW SET 1

37



1

2 6

3

4

5

8

7

10

13

9

12

11

CEILING POLE SECTION (D242) BACK TO TOC

38



NO. PARTS NO. DESCRIPTION QTY
APPLICABLE
SERIAL NO.

NOTE

1 1P0211A0 MOUNTING PLATE WITH NUT (NO.2-5) 1

2 ZA901PAY FLANGE NUT M8 CHROME (LEVELING NUT) 4

3 CENE00B0 WASHER M8X22X1.63 CHROME 4

4 ZB511PAY SPRING WASHER M8 CHROME 4

5 1E00ABA0 U NUT M8 CHROME 4

6 TCPA01A0 CEILING FLANGE 1

7 ZA774OPU HEX SOCKET SET SCREW M6X8 (CUP POINT) SUS 4

8 1A0827A0 CEILING COVER (CN-80) 1

9 CAMG76B0 STOPPER RING 1

10 CENB35B0
HEX SOCKET SET SCREW M6X8 (CUP POINT) (RED
MEC THREAD LOCK)

3

11 1G09C4A0 CEILING POLE SET 380MM (CN-80) 8FT 1

1G09C6A0 CEILING POLE SET 530MM (CN-80) 8.5FT

1G02TNA0 CEILING POLE SET 680MM (CN-80) 9FT

1G02TPA0 CEILING POLE SET 840MM (CN-80) 9.5FT

1G02TQA0 CEILING POLE SET 1000MM (CN-80) 10FT

12 CAMK40A0 ROLL PIN 6X70 1

13 ZA772NRY
HEX SOCKET SET SCREW M5X10 (TRUNCATED CONE
POINT) CHROME

4

- CGRN38B0 CEILING SCREW SET 1

- CGQO13A0 CEILING FLANGE SET (ID NO, 1-7 AND 12) 1

39



AL-D241G / AL-D241W BACK TO TOC

G
AD

10
00

PL
F

G
re

en

Ye
llo

w
G

re
en

B
lu

e

EA
R

TH
 W

IR
E

1A
0R

P
M

**
Fi

x 
to

 th
e 

YO
R

K
Fi

x 
to

 th
e 

lig
ht

 h
ea

d 
fra

m
e

TL
 S

EN
SO

R
1A

07
M

B
**

SE
N

SO
R

 P
C

B
1G

02
80

**

LE
D

 P
C

B
1G

02
7Z

**

LI
G

H
T 

IN
TE

N
SI

TY
 V

O
LU

M
E

1A
07

M
9*

*
R

ed
O

ra
ng

e

Red
Orange
Purple
Gray

4 2

 
 

D
es

cr
ip

tio
n 

Fa
ct

or
y 

Se
tti

ng
LE

D
1 

 
Li

gh
t o

n 
w

he
n 

po
w

er
 is

 o
n 

   
  

LE
D

2 
 

Li
gh

t o
n 

w
he

n 
se

ns
or

 s
ig

na
l is

 o
n

SW
1 

 
VR

 lo
w

er
 lim

it
SW

2 
 

O
pe

ra
tio

n 
ch

ec
k

SW
3 

1 
PC

B
 c

he
ck

 (D
o 

no
t t

ur
n 

on
) 

O
FF

 
 

 
O

FF
:N

or
m

al
 O

N
:P

C
B

 c
he

ck
 

 
2 

C
om

po
si

te
 s

af
e 

m
od

e 
tim

in
g 

O
N

 
 

 
O

FF
: 1

 s
ec

on
d 

O
N

: 2
 s

ec
on

ds
 

 
3 

Li
gh

t i
nt

en
si

ty
 w

he
n 

tu
rn

in
g 

on
 

O
N

 
 

 
O

FF
:C

om
po

si
te

 s
af

e 
m

od
e 

is
 a

ct
iva

te
d 

w
he

n 
ke

ep
 

 
 

ho
ld

in
g 

ha
nd

 w
ith

in
 s

en
so

r.
 

 
O

N
:N

or
m

al
 lig

ht
 m

od
e 

is
  a

ct
iva

te
d 

w
he

n 
ke

ep
 

 
 

ho
ld

in
g 

ha
nd

 w
ith

in
 s

en
so

r.
 

4 
C

om
m

un
ic

at
io

n 
Sp

ee
d 

O
FF

 
 

O
FF

:4
80

0b
ps

 O
N

:1
92

00
bp

s 
 

5 
Se

le
ct

 lig
ht

 m
od

el
 

O
N

 
 

O
FF

: A
L-

D
10

0 
O

N
: A

L-
D

20
0

 
6 

C
om

po
si

te
 s

af
e 

m
od

e 
O

FF
 

 
O

FF
:A

va
ila

bl
e 

O
N

:N
ot

 a
va

ila
bl

e 
 

7 
Li

gh
t t

ur
ni

ng
 o

n/
of

f t
im

in
g 

O
N

 
 

O
FF

:S
lo

w
 o

n/
N

or
m

al
 o

ff 
 O

N
:N

or
m

al
 o

n/
of

f 
 

8 
Se

ns
or

 d
is

ab
le

 m
od

e 
O

N
 

 
O

FF
:a

va
ila

bl
e 

O
N

:N
ot

 a
va

ila
bl

e 

Sk
y 

B
lu

e
Sk

y 
B

lu
e

W
hi

te

B
la

ck

B
lu

e

B
lu

e

B
ro

w
n

B
ro

w
n

Blue

Brown

Sky Blue

Brown

TL
 S

/M
 S

W
(A

L-
D

10
1G

L)
1A

0Z
V0

**

TL
 P

W
M

(A
L-

D
10

1/
10

2)
1A

0S
TX

**

D
24

1 
FI

LT
ER

 L
IN

E
1G

0A
SL

**

TL
 C

TL
 P

C
B

1A
08

6X
**

AC
 P

O
W

ER
 IN

10
0V

 to
 2

40
V

D
20

0
R

O
C

KE
R

SW
 IN

(N
)

1A
10

C
W

**

D
20

1 
FU

SE
W

IR
E(

N
)

1A
0X

M
R

**
D

20
1 

FU
SE

 W
IR

E(
L)

1A
0X

M
S*

*

FU
SE

25
0V

/0
.8

A(
T)

D
24

1 
PO

W
ER

 C
O

D
E

1A
0X

N
A*

*

TL
 E

AR
TH

C
AD

Q
74

**

SE
N

SO
R

M
AN

U
AL

Pi
nk

Li
gh

t G
re

en

Pi
nk

Sky Blue

Blue
Green
Yellow

Pink

Purple

 

Li
gh

t G
re

en

Light
Green

B
la

ck

G
ra

y
W

hi
te

B
ro

w
n

TL
 L

ED
 M

O
D

U
LE

1A
07

M
A*

*
B

la
ck

B
la

ck
/W

hi
te

B
ro

w
n/

W
hi

te

B
ro

w
n

B
la

ck
B

la
ck

/W
hi

te

B
ro

w
n/

W
hi

te
B

ro
w

n

AL
-9

01
/9

02
 A

R
M

 W
IR

E
1A

08
7K

**

LI
G

H
T 

H
EA

D

YO
R

K

AR
M

G
re

en
/Y

el
lo

w

Green/Yellow

8

1

4
9

7

6
5

PO
W

ER
 B

O
X

ER
 L

IG
H

T 
PC

B
 (N

O
 C

O
M

)
1G

08
03

**

B
lac
k

B
ro

w
n

G
ra

y
W

hi
te

B
la

ck

G
ra

y
W

hi
te

B
ro

w
n

TL
 L

ED
 M

O
D

U
LE

1A
07

M
A*

*

D
20

0 
LE

D
 M

O
D

U
LE

1G
09

5T
**

Red
Orange

Fe
rri

te
ZC

AT
17

30
-0

73
0(

TD
K)

(1
E0

6T
C

**
) 2

tu
rn

PO
W

ER
 U

N
IT

 2
2W

 
1G

08
K8

**

B
lu

e
(P

in
4)

B
ro

w
n

(P
in

2)
TL

 M
AI

N
SW

 IN
PU

T(
L)

1A
0Y

ZC
**

M
AI

N
 S

W

B
lu

e
(P

in
3)

B
ro

w
n

(P
in

1)
MM

Gray

Yellow
Green
Blue

Ye
llo

w
G

re
en

B
lu

e

40



AL-D242G BACK TO TOC

G
AD

10
00

PL
F

G
re

en

Ye
llo

w
G

re
en

B
lu

e

EA
R

TH
 W

IR
E

1A
0R

P
M

**
Fi

x 
to

 th
e 

YO
R

K
Fi

x 
to

 th
e 

lig
ht

 h
ea

d 
fra

m
e

TL
 S

EN
SO

R
1A

07
M

B
**

SE
N

SO
R

 P
C

B
1G

02
80

**

LE
D

 P
C

B
1G

02
7Z

**

LI
G

H
T 

IN
TE

N
SI

TY
 V

O
LU

M
E

1A
07

M
9*

*
R

ed
O

ra
ng

e

Red
Orange
Purple
Gray

4 2

 
 

D
es

cr
ip

tio
n 

Fa
ct

or
y 

Se
tti

ng
LE

D
1 

 
Li

gh
t o

n 
w

he
n 

po
w

er
 is

 o
n 

   
  

LE
D

2 
 

Li
gh

t o
n 

w
he

n 
se

ns
or

 s
ig

na
l is

 o
n

SW
1 

 
VR

 lo
w

er
 lim

it
SW

2 
 

O
pe

ra
tio

n 
ch

ec
k

SW
3 

1 
PC

B
 c

he
ck

 (D
o 

no
t t

ur
n 

on
) 

O
FF

 
 

 
O

FF
:N

or
m

al
 O

N
:P

C
B

 c
he

ck
 

 
2 

C
om

po
si

te
 s

af
e 

m
od

e 
tim

in
g 

O
N

 
 

 
O

FF
: 1

 s
ec

on
d 

O
N

: 2
 s

ec
on

ds
 

 
3 

Li
gh

t i
nt

en
si

ty
 w

he
n 

tu
rn

in
g 

on
 

O
N

 
 

 
O

FF
:C

om
po

si
te

 s
af

e 
m

od
e 

is
 a

ct
iva

te
d 

w
he

n 
ke

ep
 

 
 

ho
ld

in
g 

ha
nd

 w
ith

in
 s

en
so

r.
 

 
O

N
:N

or
m

al
 lig

ht
 m

od
e 

is
  a

ct
iva

te
d 

w
he

n 
ke

ep
 

 
 

ho
ld

in
g 

ha
nd

 w
ith

in
 s

en
so

r.
 

4 
C

om
m

un
ic

at
io

n 
Sp

ee
d 

O
FF

 
 

O
FF

:4
80

0b
ps

 O
N

:1
92

00
bp

s 
 

5 
Se

le
ct

 lig
ht

 m
od

el
 

O
N

 
 

O
FF

: A
L-

D
10

0 
O

N
: A

L-
D

20
0

 
6 

C
om

po
si

te
 s

af
e 

m
od

e 
O

FF
 

 
O

FF
:A

va
ila

bl
e 

O
N

:N
ot

 a
va

ila
bl

e 
 

7 
Li

gh
t t

ur
ni

ng
 o

n/
of

f t
im

in
g 

O
N

 
 

O
FF

:S
lo

w
 o

n/
N

or
m

al
 o

ff 
 O

N
:N

or
m

al
 o

n/
of

f 
 

8 
Se

ns
or

 d
is

ab
le

 m
od

e 
O

N
 

 
O

FF
:a

va
ila

bl
e 

O
N

:N
ot

 a
va

ila
bl

e 

Sk
y 

B
lu

e
Sk

y 
B

lu
e

W
hi

te

B
la

ck

B
lu

e

B
lu

e

B
ro

w
n

B
ro

w
n

Blue

Brown

Sky Blue

Brown

TL
 S

/M
 S

W
(A

L-
D

10
1G

L)
1A

0Z
V0

**

TL
 P

W
M

(A
L-

D
10

1/
10

2)
1A

0S
TX

**

D
24

1 
FI

LT
ER

 L
IN

E
1G

0A
SL

**

TL
 C

TL
 P

C
B

1A
08

6X
**

AC
 P

O
W

ER
 IN

10
0V

 to
 2

40
V

D
20

0
R

O
C

KE
R

SW
 IN

(N
)

1A
10

C
W

**

D
20

1 
FU

SE
W

IR
E(

N
)

1A
0X

M
R

**
D

20
1 

FU
SE

 W
IR

E(
L)

1A
0X

M
S*

*

FU
SE

25
0V

/0
.8

A(
T)

D
24

1 
PO

W
ER

 C
O

D
E

1A
0X

N
A*

*

TL
 E

AR
TH

C
AD

Q
74

**

SE
N

SO
R

M
AN

U
AL

Pi
nk

Li
gh

t G
re

en

Pi
nk

Sky Blue

Blue
Green
Yellow

Pink

Purple

 

Li
gh

t G
re

en

Light
Green

B
la

ck

G
ra

y
W

hi
te

B
ro

w
n

TL
 L

ED
 M

O
D

U
LE

1A
07

M
A*

*
B

la
ck

B
la

ck
/W

hi
te

B
ro

w
n/

W
hi

te

B
ro

w
n

B
la

ck
B

la
ck

/W
hi

te

B
ro

w
n/

W
hi

te
B

ro
w

n

AL
-9

01
/9

02
 A

R
M

 W
IR

E
1A

08
7K

**

LI
G

H
T 

H
EA

D

YO
R

K

AR
M

G
re

en
/Y

el
lo

w

Green/Yellow

8

1

4
9

7

6
5

PO
W

ER
 B

O
X

ER
 L

IG
H

T 
PC

B
 (N

O
 C

O
M

)
1G

08
03

**

B
lac
k

B
ro

w
n

G
ra

y
W

hi
te

B
la

ck

G
ra

y
W

hi
te

B
ro

w
n

TL
 L

ED
 M

O
D

U
LE

1A
07

M
A*

*

D
20

0 
LE

D
 M

O
D

U
LE

1G
09

5T
**

Red
Orange

Fe
rri

te
ZC

AT
17

30
-0

73
0(

TD
K)

(1
E0

6T
C

**
) 2

tu
rn

PO
W

ER
 U

N
IT

 2
2W

 
1G

08
K8

**

B
lu

e
(P

in
4)

B
ro

w
n

(P
in

2)
TL

 M
AI

N
SW

 IN
PU

T(
L)

1A
0Y

ZC
**

M
AI

N
 S

W

B
lu

e
(P

in
3)

B
ro

w
n

(P
in

1)
MM

Gray

Yellow
Green
Blue

Ye
llo

w
G

re
en

B
lu

e

41



AL–D245G BACK TO TOC

G
AD

10
00

PQ
G

4 2

B
lu

e
(P

in
4)

B
ro

w
n

(P
in

2)

Sk
y 

B
lu

e
Sk

y 
B

lu
e

W
hi

te

B
la

ck

TL
 S

/M
 S

W
(A

L-
D

10
1G

L)
1A

0Z
V0

**

TL
 P

W
M

(A
L-

D
10

1/
10

2)
1A

0S
TX

**

TL
 C

TL
 P

C
B

1A
08

6X
**

TL
 S

IG
N

AL
(A

L-
90

5)
1A

08
7Q

**

AC
 P

O
W

ER
 IN

10
0V

 to
 2

40
V

PO
W

ER
 U

N
IT

 2
2W

1G
08

K8
**

SE
N

SO
R

M
AN

U
AL

G
re

en

Ye
llo

w
G

re
en

B
lu

e

Ye
llo

w
G

re
en

B
lu

e

Pi
nk

Li
gh

t G
re

en

Pi
nk

Sky Blue

Blue
Green
Yellow

Pink

Li
gh

t G
re

en

Light Green

B
la

ck
B

ro
w

n

TL
 L

ED
 M

O
D

U
LE

1A
07

M
A*

*

TL
 B

O
X 

YO
R

K 
B

1A
08

7S
**

EX
TE

N
SI

O
N

 P
O

ST
- 8

ft:
N

o 
ca

bl
e

8.
5 

- 1
0f

t:
TL

 B
O

X 
YO

R
K 

C
1A

08
7T

**
TL

 B
O

X 
YO

R
K 

A
1A

08
7R

**

D
20

X 
LE

D
 P

W
R

 O
U

TP
U

T
1A

0W
D

0*
*

B
la

ck

B
la

ck
/W

hi
te

B
ro

w
n/

W
hi

te

B
ro

w
n

B
la

ck
B

la
ck

/W
hi

te

B
ro

w
n/

W
hi

te
B

ro
w

n

B
la

ck
B

la
ck

/W
hi

te

B
ro

w
n/

W
hi

te
B

ro
w

n

B
la

ck
B

la
ck

/W
hi

te

B
ro

w
n/

W
hi

te
B

ro
w

n

B
la

ck
 W

hi
te

B
ro

w
n

B
la

ck
G

ra
y

W
hi

te
B

ro
w

n

R
ed

O
ra

ng
e

Pu
rp

le
G

ra
y

Red
Orange
Purple
Gray

Ye
llo

w
G

re
en

B
lu

e
R

ed
O

ra
ng

e

Ye
llo

w
G

re
en

B
lu

e
R

ed O
ra

ng
e

Pu
rp

le
G

ra
y

EA
R

TH
 W

IR
E

1A
0R

P
M

**
Fi

x 
to

 th
e 

Yo
rk

Fi
x 

to
 th

e 
lig

ht
 h

ea
d 

fra
m

e

LI
G

H
T 

H
EA

D

YO
R

K

AR
M

8

1

4
9

7

6
5

C
T 

C
AB

LE
 5

00
m

m
 C

AM
V0

1*
*

PO
W

ER
 B

O
X

ER
 L

IG
H

T 
PC

B
 (N

O
 C

O
M

)
1G

08
03

**

B
lac
k

B
ro

w
n

G
ra

y
W

hi
te

D
20

0 
LE

D
 M

O
D

U
LE

1G
09

5T
**

LI
G

H
T 

IN
TE

N
SI

TY
 V

O
LU

M
E

1A
07

M
9*

*
R

ed
O

ra
ng

e

Yellow
Green
Blue

TL
 S

EN
SO

R
1A

07
M

B
**

SE
N

SO
R

 P
C

B
1G

02
80

**

LE
D

 P
C

B
1G

02
7Z

**

Pu
rp

le
G

ra
y

Purple
Gray

Fe
rri

te
ZC

AT
17

30
-0

73
0(

TD
K)

(1
E0

6T
C

**
) 2

tu
rn

W
hi

te
G

ra
y

 
 

D
es

cr
ip

tio
n 

Fa
ct

or
y 

Se
tti

ng
LE

D
1 

 
Li

gh
t o

n 
w

he
n 

po
w

er
 is

 o
n 

   
  

LE
D

2 
 

Li
gh

t o
n 

w
he

n 
se

ns
or

 s
ig

na
l is

 o
n

SW
1 

 
VR

 lo
w

er
 lim

it
SW

2 
 

O
pe

ra
tio

n 
ch

ec
k

SW
3 

1 
PC

B
 c

he
ck

 (D
o 

no
t t

ur
n 

on
) 

O
FF

 
 

 
O

FF
:N

or
m

al
 O

N
:P

C
B

 c
he

ck
 

 
2 

C
om

po
si

te
 s

af
e 

m
od

e 
tim

in
g 

O
N

 
 

 
O

FF
: 1

 s
ec

on
d 

O
N

: 2
 s

ec
on

ds
 

 
3 

Li
gh

t i
nt

en
si

ty
 w

he
n 

tu
rn

in
g 

on
 

O
N

 
 

 
O

FF
:C

om
po

si
te

 s
af

e 
m

od
e 

is
 a

ct
iva

te
d 

w
he

n 
ke

ep
 

 
 

ho
ld

in
g 

ha
nd

 w
ith

in
 s

en
so

r.
 

 
O

N
:N

or
m

al
 lig

ht
 m

od
e 

is
  a

ct
iva

te
d 

w
he

n 
ke

ep
 

 
 

ho
ld

in
g 

ha
nd

 w
ith

in
 s

en
so

r.
 

4 
C

om
m

un
ic

at
io

n 
Sp

ee
d 

O
FF

 
 

O
FF

:4
80

0b
ps

 O
N

:1
92

00
bp

s 
 

5 
Se

le
ct

 lig
ht

 m
od

el
 

O
N

 
 

O
FF

: A
L-

D
10

0 
O

N
: A

L-
D

20
0

 
6 

C
om

po
si

te
 s

af
e 

m
od

e 
O

FF
 

 
O

FF
:A

va
ila

bl
e 

O
N

:N
ot

 a
va

ila
bl

e 
 

7 
Li

gh
t t

ur
ni

ng
 o

n/
of

f t
im

in
g 

O
N

 
 

O
FF

:S
lo

w
 o

n/
N

or
m

al
 o

ff 
 O

N
:N

or
m

al
 o

n/
of

f 
 

8 
Se

ns
or

 d
is

ab
le

 m
od

e 
O

N
 

 
O

FF
:a

va
ila

bl
e 

O
N

:N
ot

 a
va

ila
bl

e 

Blue

Brown

Sky Blue

Brown

D
20

0 
R

O
C

KE
R

 S
W

 IN
(L

)
1A

10
C

V*
*

D
20

5
TE

R
M

IN
AL

O
U

TP
U

T
1A

0X
Q

C
**

FU
SE

25
0V

/0
.8

A(
T)

TL
 E

AR
TH

1A
08

7N
**

G
re

en
/Y

el
lo

w

Green/Yellow

B
lu

e

B
lu

e

B
ro

w
n

B
ro

w
n

Red
Orange

M
AI

N
 S

W

D
24

5 
FI

LT
ER

 L
IN

E
1G

0A
SM

**

D
20

0
R

O
C

KE
R

SW
 IN

(N
)

1A
10

C
W

**
B

lu
e

(P
in

3)
B

ro
w

n
(P

in
1)

MM

42



AL–D247G BACK TO TOC

TL
 S

EN
SO

R
1A

07
M

B
**

Sk
y 

B
lu

e
Sk

y 
B

lu
e

W
hi

te

B
la

ck

Blue

Brown

Sky Blue

Brown

TL
 S

/M
 S

W
 B

1A
0S

U
4*

*
TL

 S
/M

 S
W

 A
1A

0S
U

3*
*

TL
 C

TL
 P

C
B

 B
1A

07
M

Q
**

TL
 C

TL
 P

C
B

 A
1A

07
M

P*
*

TL
 P

M
W

 B
1A

0S
U

2*
*

TL
 P

M
W

 A
1A

0S
U

1*
*

AC
 P

O
W

ER
 IN

10
0V

 to
 2

40
V

D
24

7
PO

W
ER

 to
 F

U
SE

1A
0X

Q
F*

*

FU
SE

25
0V

/0
.8

A(
T)

LO
C

AL
 IN

ST
AL

LA
TI

O
N

PA
R

TS
 A

R
E 

N
O

T 
IN

C
LU

D
ED

TL
 E

AR
TH

1A
0B

LY
**

N

SE
N

SO
R

M
AN

U
AL

G
re

en

Pi
nk

Li
gh

t G
re

en

Pi
nk

Sky Blue

Blue
Green
Yellow

Pink

Li
gh

t G
re

en

Light
Green

B
la

ck

G
ra

y
W

hi
te

B
ro

w
n

TL
 L

ED
 M

O
D

U
LE

1A
07

M
A*

*

TL
 B

O
X 

YO
R

K 
B

1A
08

7S
**

TL
 B

O
X 

YO
R

K 
A

1A
09

G
U

**

D
20

X 
LE

D
 P

W
R

 O
U

TP
U

T
1A

0W
D

0*
*

B
la

ck

B
la

ck
/W

hi
te

B
ro

w
n/

W
hi

te

B
ro

w
n

B
la

ck
B

la
ck

/W
hi

te

B
ro

w
n/

W
hi

te
B

ro
w

n

B
la

ck
B

la
ck

/W
hi

te

B
ro

w
n/

W
hi

te
B

ro
w

n

B
la

ck

B
ro

w
n

B
la

ck

B
ro

w
n

EA
R

TH
 W

IR
E

1A
0R

P
M

 *
*

Fi
x 

to
 th

e 
YO

R
K

Fi
x 

to
 th

e 
lig

ht
 h

ea
d 

fra
m

e

LI
G

H
T 

H
EA

D

YO
R

K

AR
M

PO
W

ER
 B

O
X

PO
W

ER
 B

O
X 

PA
N

EL

AC
12

0V
PW

R

Green/Yellow

8

1

4

7

6

ER
 L

IG
H

T 
PC

B
 (N

O
 C

O
M

)
1G

08
03

**

L

LE
D

 P
C

B
1G

02
7Z

**

LI
G

H
T 

IN
TE

N
SI

TY
 V

O
LU

M
E

1A
07

M
9*

*
R

ed
O

ra
ng

e

Red
Orange
Purple
Gray

Yellow
Green
Blue

SE
N

SO
R

 P
C

B
1G

02
80

**

B
lac
k

B
ro

w
n

G
ra

y
W

hi
te

D
20

0 
LE

D
 M

O
D

U
LE

1G
09

5T
**

Fe
rri

te
ZC

AT
17

30
-0

73
0(

TD
K)

(1
E0

6T
C

**
) 2

tu
rn

G
ra

y

W
hi

te

G
ra

y

W
hi

te

PO
W

ER
 U

N
IT

 2
2W

 
1G

08
K8

**

 
 

D
es

cr
ip

tio
n 

Fa
ct

or
y 

Se
tti

ng
LE

D
1 

 
Li

gh
t o

n 
w

he
n 

po
w

er
 is

 o
n 

   
  

LE
D

2 
 

Li
gh

t o
n 

w
he

n 
se

ns
or

 s
ig

na
l is

 o
n

SW
1 

 
VR

 lo
w

er
 lim

it
SW

2 
 

O
pe

ra
tio

n 
ch

ec
k

SW
3 

1 
PC

B
 c

he
ck

 (D
o 

no
t t

ur
n 

on
) 

O
FF

 
 

 
O

FF
:N

or
m

al
 O

N
:P

C
B

 c
he

ck
 

 
2 

C
om

po
si

te
 s

af
e 

m
od

e 
tim

in
g 

O
N

 
 

 
O

FF
: 1

 s
ec

on
d 

O
N

: 2
 s

ec
on

ds
 

 
3 

Li
gh

t i
nt

en
si

ty
 w

he
n 

tu
rn

in
g 

on
 

O
N

 
 

 
O

FF
:C

om
po

si
te

 s
af

e 
m

od
e 

is
 a

ct
iva

te
d 

w
he

n 
ke

ep
 

 
 

ho
ld

in
g 

ha
nd

 w
ith

in
 s

en
so

r.
 

 
O

N
:N

or
m

al
 lig

ht
 m

od
e 

is
  a

ct
iva

te
d 

w
he

n 
ke

ep
 

 
 

ho
ld

in
g 

ha
nd

 w
ith

in
 s

en
so

r.
 

4 
C

om
m

un
ic

at
io

n 
Sp

ee
d 

O
FF

 
 

O
FF

:4
80

0b
ps

 O
N

:1
92

00
bp

s 
 

5 
Se

le
ct

 lig
ht

 m
od

el
 

O
N

 
 

O
FF

: A
L-

D
10

0 
O

N
: A

L-
D

20
0

 
6 

C
om

po
si

te
 s

af
e 

m
od

e 
O

FF
 

 
O

FF
:A

va
ila

bl
e 

O
N

:N
ot

 a
va

ila
bl

e 
 

7 
Li

gh
t t

ur
ni

ng
 o

n/
of

f t
im

in
g 

O
N

 
 

O
FF

:S
lo

w
 o

n/
N

or
m

al
 o

ff 
 O

N
:N

or
m

al
 o

n/
of

f 
 

8 
Se

ns
or

 d
is

ab
le

 m
od

e 
O

N
 

 
O

FF
:a

va
ila

bl
e 

O
N

:N
ot

 a
va

ila
bl

e 

B
lu

e

B
lu

e

B
ro

w
n

B
ro

w
n

G
re

en

W
hi

te

B
la

ck

B
lu

e
(P

in
4)

B
ro

w
n

(P
in

2)

M
AI

N
 S

W

5
9

Purple
Gray

Ye
llo

w
G

re
en

B
lu

e
R

ed O
ra

ng
e

Pu
rp

le
G

ra
y

Red
Orange
Purple
Gray

Ye
llo

w

G
re

en
B

lu
e

D
20

0 
R

O
C

KE
R

 S
W

 IN
(L

)
1A

10
C

V*
*

D
24

7 
FI

LT
ER

 L
IN

E
1G

0A
SN

**

D
20

0
R

O
C

KE
R

SW
 IN

(N
)

1A
10

C
W

**
B

lu
e

(P
in

3)
B

ro
w

n
(P

in
1)

MM

G
AD

10
00

PR
F

Orange
Red

4 2

43



AL–D248G BACK TO TOC

Sk
y 

B
lu

e
Sk

y 
B

lu
e

W
hi

te

B
la

ck

D
24

8 
S/

M
 S

W
 P

AR
T

1G
0B

7R
**

TL
 S

/M
 S

W
 A

1A
0S

U
8*

*

TL
 C

TL
 P

C
B

1A
09

G
M

**

TL
 P

M
W

1A
0S

TX
**

SE
N

SO
R

O
FF

M
AN

U
AL

Ye
llo

w
G

re
en

B
lu

e

Pi
nk

Li
gh

t G
re

en

Pi
nk

Sky Blue
Pink

Li
gh

t G
re

en

Light
Green

B
la

ck

W
hi

te

B
ro

w
n

TL
 L

ED
 M

O
D

U
LE

1A
07

M
A*

*

TL
 B

O
X 

YO
R

K 
B

1A
08

7S
**

TL
 B

O
X 

YO
R

K 
A

1A
09

G
N

**

D
20

X 
LE

D
 P

W
R

 O
U

TP
U

T
1A

0W
D

0*
*

B
la

ck

B
la

ck
/W

hi
te

B
ro

w
n/

W
hi

te

B
ro

w
n

B
la

ck
B

la
ck

/W
hi

te

B
ro

w
n/

W
hi

te
B

ro
w

n

B
la

ck
B

la
ck

/W
hi

te

B
ro

w
n/

W
hi

te
B

ro
w

n

B
la

ck

B
ro

w
n

B
la

ck

B
ro

w
n

EA
R

TH
 W

IR
E

1A
0R

P
M

 *
*

Fi
x 

to
 th

e 
YO

R
K

Fi
x 

to
 th

e 
lig

ht
 h

ea
d 

fra
m

e

LI
G

H
T 

H
EA

D
YO

R
K

AR
M

PO
W

ER
 B

O
X

PO
W

ER
 B

O
X 

PA
N

EL

8

1

7

6

ER
 L

IG
H

T 
PC

B
 (N

O
 C

O
M

)
1G

08
03

**

LE
D

 P
C

B
1G

02
7Z

**

LI
G

H
T 

IN
TE

N
SI

TY
 V

O
LU

M
E

1A
07

M
9*

*
R

ed
O

ra
ng

e
Red
Orange
Purple
Gray

Yellow
Green
Blue

TL
 S

EN
SO

R
1A

07
M

B
**

SE
N

SO
R

 P
C

B
1G

02
80

**

B
la

ck
B

ro
w

n

W
hi

te

D
20

0 
LE

D
 M

O
D

U
LE

1G
09

5T
**

Fe
rri

te
ZC

AT
17

30
-0

73
0(

TD
K)

(1
E0

6T
C

**
) 2

tu
rn

B
la

ck

B
lu

e

B
ro

w
n

W
hi

te

B
la

ck

B
lu

e

B
ro

w
n

W
hi

te

Blue

Brown

AC
 P

O
W

ER
 IN

10
0V

 to
 2

40
V

FU
SE

25
0V

/0
.8

A(
T)D
24

8 
FI

LT
ER

 A
SS

Y
1G

0A
3D

**

TL
 E

AR
TH

1A
04

C
X*

*

D
24

8 
FU

SE
 R

EL
AY

 L
IN

E
1A

0X
P1

**

G
re

en
/Y

el
lo

w

C
T 

C
AB

LE
 2

00
0L

1A
04

C
Z*

* Sky Blue

Brown

Green/Yellow

G
ra

y

W
hi

te

G
ra

y

W
hi

te

PO
W

ER
 U

N
IT

 2
2W

 
1G

08
K8

**

 
 

D
es

cr
ip

tio
n 

Fa
ct

or
y 

Se
tti

ng
LE

D
1 

 
Li

gh
t o

n 
w

he
n 

po
w

er
 is

 o
n 

   
  

LE
D

2 
 

Li
gh

t o
n 

w
he

n 
se

ns
or

 s
ig

na
l is

 o
n

SW
1 

 
VR

 lo
w

er
 lim

it
SW

2 
 

O
pe

ra
tio

n 
ch

ec
k

SW
3 

1 
PC

B
 c

he
ck

 (D
o 

no
t t

ur
n 

on
) 

O
FF

 
 

 
O

FF
:N

or
m

al
 O

N
:P

C
B

 c
he

ck
 

 
2 

C
om

po
si

te
 s

af
e 

m
od

e 
tim

in
g 

O
N

 
 

 
O

FF
: 1

 s
ec

on
d 

O
N

: 2
 s

ec
on

ds
 

 
3 

Li
gh

t i
nt

en
si

ty
 w

he
n 

tu
rn

in
g 

on
 

O
N

 
 

 
O

FF
:C

om
po

si
te

 s
af

e 
m

od
e 

is
 a

ct
iva

te
d 

w
he

n 
ke

ep
 

 
 

ho
ld

in
g 

ha
nd

 w
ith

in
 s

en
so

r.
 

 
O

N
:N

or
m

al
 lig

ht
 m

od
e 

is
  a

ct
iva

te
d 

w
he

n 
ke

ep
 

 
 

ho
ld

in
g 

ha
nd

 w
ith

in
 s

en
so

r.
 

4 
C

om
m

un
ic

at
io

n 
Sp

ee
d 

O
FF

 
 

O
FF

:4
80

0b
ps

 O
N

:1
92

00
bp

s 
 

5 
Se

le
ct

 lig
ht

 m
od

el
 

O
N

 
 

O
FF

: A
L-

D
10

0 
O

N
: A

L-
D

20
0

 
6 

C
om

po
si

te
 s

af
e 

m
od

e 
O

FF
 

 
O

FF
:A

va
ila

bl
e 

O
N

:N
ot

 a
va

ila
bl

e 
 

7 
Li

gh
t t

ur
ni

ng
 o

n/
of

f t
im

in
g 

O
N

 
 

O
FF

:S
lo

w
 o

n/
N

or
m

al
 o

ff 
 O

N
:N

or
m

al
 o

n/
of

f 
 

8 
Se

ns
or

 d
is

ab
le

 m
od

e 
O

N
 

 
O

FF
:a

va
ila

bl
e 

O
N

:N
ot

 a
va

ila
bl

e 

G
re

en

G
ra

y

G
ra

y

Blue
Green
Yellow

4
5

9

Purple
Gray

Ye
llo

w
G

re
en

B
lu

e
R

ed O
ra

ng
e

Pu
rp

le
G

ra
y

G
AD

10
00

PS
F

Orange
Red

4 2

44



AL-D246G-QU BACK TO TOC

Sk
y 

B
lu

e

Sky Blue

W
hi

te

B
la

ck

B
ro

w
n

B
lu

e

Blue

Brown

D246QU S/M SW ASSY
1G0B7S**

TL
 P

W
M

(A
L-

D
10

1/
10

2)
1A

0S
TX

**

TL
 C

TL
 P

C
B

1A
08

6X
**

N
O

IS
E 

FI
LT

ER
 P

AR
T

1A
08

AG
**

AC
 P

O
W

ER
 IN

10
0V

 to
 2

40
V

FU
SE

25
0V

/0
.8

A(
T)

C
on

ne
ct

 to
 T

L 
fro

m
 c

ha
ir

C
on

ne
ct

 to
 C

H
AI

R
 P

C
B

EU
R

U
S 

LI
G

H
T 

C
TL

 P
C

B
1G

07
PB

**

SENSOR

MANUAL

G
re

en

Ye
llo

w
G

re
en

B
lu

e

Ye
llo

w
G

re
en

B
lu

e

Pi
nk

Li
gh

t G
re

en

Pink

Sky Blue

Blue
Green
Yellow

Pink

Light Green

B
la

ck

aa
  a

W
hi

te

B
ro

w
n

B
ro

w
n

R
ed

TL
 L

ED
 M

O
D

U
LE

1A
07

M
A*

*
B

la
ck

B
la

ck
/W

hi
te

B
ro

w
n/

W
hi

te

B
ro

w
n

B
la

ck
B

la
ck

/W
hi

te

B
ro

w
n/

W
hi

te
B

ro
w

n

B
la

ck
B

la
ck

/W
hi

te

B
ro

w
n/

W
hi

te
B

ro
w

n

AR
M

 W
IR

E
1A

08
6V

**

TL
 L

ED
M

O
D

U
LE

1A
0X

VW
**

EA
R

TH
 W

IR
E

1A
0R

P
M

**

Fi
x 

to
 th

e 
YO

R
K

Fi
x 

to
 th

e 
lig

ht
 h

ea
d 

fra
m

e

LI
G

H
T 

H
EA

D

YO
R

K
AR

M

SW
IT

C
H

 B
O

X
C

H
AI

R
 B

AS
E

8
5

1

4
9

7 11

8
H

6

TL
 S

/M
 S

W
 (D

24
6Q

U
)

1A
0W

W
7*

*

TL SERIAL
1A0871**

G
re

en
/Y

el
lo

w

B
lac
k

B
ro

w
n

G
ra

y
W

hi
te

D
20

0 
LE

D
 M

O
D

U
LE

1G
09

5T
**

TL
 S

EN
SO

R
1A

07
M

B
**

SE
N

SO
R

 P
C

B
1G

02
80

**

LE
D

 P
C

B
1G

02
7Z

**

LI
G

H
T 

IN
TE

N
SI

TY
 V

O
LU

M
E

1A
07

M
9*

*
R

ed
O

ra
ng

e

Red
Orange
Purple
Gray

PO
W

ER
 U

N
IT

 2
2W

 
1G

08
K8

**

OFF

Purple
Gray

J
J

    
    
    
   

Ye
llo

w
G

re
en

B
lu

e
R

ed O
ra

ng
e

Pu
rp

le
G

ra
y

Light Green

 
 

D
es

cr
ip

tio
n 

Fa
ct

or
y 

Se
tti

ng
LE

D
1 

 
Li

gh
t o

n 
w

he
n 

po
w

er
 is

 o
n 

   
  

LE
D

2 
 

Li
gh

t o
n 

w
he

n 
se

ns
or

 s
ig

na
l is

 o
n

SW
1 

 
VR

 lo
w

er
 lim

it
SW

2 
 

O
pe

ra
tio

n 
ch

ec
k

SW
3 

1 
PC

B
 c

he
ck

 (D
o 

no
t t

ur
n 

on
) 

O
FF

 
 

 
O

FF
:N

or
m

al
 O

N
:P

C
B

 c
he

ck
 

 
2 

C
om

po
si

te
 s

af
e 

m
od

e 
tim

in
g 

O
N

 
 

 
O

FF
: 1

 s
ec

on
d 

O
N

: 2
 s

ec
on

ds
 

 
3 

Li
gh

t i
nt

en
si

ty
 w

he
n 

tu
rn

in
g 

on
 

O
N

 
 

 
O

FF
:C

om
po

si
te

 s
af

e 
m

od
e 

is
 a

ct
iva

te
d 

w
he

n 
ke

ep
 

 
 

ho
ld

in
g 

ha
nd

 w
ith

in
 s

en
so

r.
 

 
O

N
:N

or
m

al
 lig

ht
 m

od
e 

is
  a

ct
iva

te
d 

w
he

n 
ke

ep
 

 
 

ho
ld

in
g 

ha
nd

 w
ith

in
 s

en
so

r.
 

4 
C

om
m

un
ic

at
io

n 
Sp

ee
d 

O
FF

 
 

O
FF

:4
80

0b
ps

 O
N

:1
92

00
bp

s 
 

5 
Se

le
ct

 lig
ht

 m
od

el
 

O
N

 
 

O
FF

: A
L-

D
10

0 
O

N
: A

L-
D

20
0

 
6 

C
om

po
si

te
 s

af
e 

m
od

e 
O

FF
 

 
O

FF
:A

va
ila

bl
e 

O
N

:N
ot

 a
va

ila
bl

e 
 

7 
Li

gh
t t

ur
ni

ng
 o

n/
of

f t
im

in
g 

O
N

 
 

O
FF

:S
lo

w
 o

n/
N

or
m

al
 o

ff 
 O

N
:N

or
m

al
 o

n/
of

f 
 

8 
Se

ns
or

 d
is

ab
le

 m
od

e 
O

N
 

 
O

FF
:a

va
ila

bl
e 

O
N

:N
ot

 a
va

ila
bl

e
SW

4 
   

   
   

   
 S

ig
na

l t
yp

e 
PC

   
  

G
AD

10
00

Q
LE

Green
Blue

Yellow

Orange
Red

B
ro

w
n

R
ed

4 2

45



AL-D246G-EV / AL-D249W-X*
(EVG OTP & Swing Unit on Q3300/Q5500, EVG Swing Unit on B50N, X-Calibur OTP & Swing Unit on B50N/Q3300/Q5500)

BACK TO TOC

OF
F

Sk
y B

lue

Sk
y B

lue

W
hit

e

Bl
ac

k

Bl
ue

Br
ow

n

Bl
ue

Br
ow

n

Blue

Brown

Sky Blue

Brown

S/
M

 S
W

 A
SS

Y(
D2

49
)

1G
0B

7M
**

TL
 P

W
M（

AL
-D

10
9-

X)
1A

0S
UH

**

AC
 P

OW
ER

 IN
10

0V
 to

 2
40

V

TL
 F

US
E 

to
 A

IR
-S

W
(N

)
1A

0X
QX

**

TL
 F

US
E 

to
 A

IR
-S

W
(L

)
1A

0X
QT

**

FU
SE

25
0V

/0
.8

A(
T)

D2
46

EV
 F

ILT
ER

 A
SS

Y
1G

0A
3U

**

AI
R 

SW
IT

CH

TL
 E

AR
TH

CA
DQ

74
**

ER
 L

IG
HT

 P
CB

 (N
O 

CO
M

)
1G

08
03

**

TL
 P

OW
ER

 P
CB

1A
0S

UF
**

SE
NS

OR

M
AN

UA
L

Gr
ee

n

Ye
llo

w
Gr

ee
n

Bl
ue

Pi
nk

Lig
ht

 G
re

en

Pi
nk

Blue
Green
Yellow

Lig
ht

 G
re

en

Light
Green

Bl
ac

k

Gr
ay

W
hit

e

Br
ow

n
TL

 L
ED

 M
OD

UL
E

1A
07

M
A*

*

Br
ow

n

W
hit

e

Gr
ee

n
Bl

ue

Gr
ay

Pu
rp

le

Re
d

Ye
llo

w
Or

an
ge

Brown

White

Green
Blue

Gray
Purple

Red

Yellow
Orange

Brown

Red
Yellow

Orange

AR
M

 W
IR

E
1A

08
9T

**

EA
RT

H
 W

IR
E

1A
0R

PM
**

Fix
 to

 th
e 

YO
RK

Fix
 to

 th
e 

lig
ht

 h
ea

d 
fra

m
e

LI
GH

T 
HE

AD

YO
RK

SW
IT

CH
 B

OX
PO

W
ER

 B
OX

Gr
ee

n/
Ye

llo
w

Green/Yellow

8

1

4
5

9

M
M

7

6

Sky Blue
Pink

6

Bl
ac

k
Br

ow
n

Gr
ay

W
hit

e

D2
00

 L
ED

 M
OD

UL
E

1G
09

5T
**

LE
D 

PC
B

1G
02

7Z
**

LI
GH

T 
IN

TE
NS

IT
Y 

VO
LU

M
E

1A
07

M
9*

*
Re

d
Or

an
ge

Red
Orange
Purple
Gray

TL
 S

EN
SO

R
1A

07
M

B*
*

SE
NS

OR
 P

CB
1G

02
80

**

PO
W

ER
 U

NI
T 

22
W

 
1G

08
K8

**

 
 

De
sc

rip
tio

n 
Fa

ct
or

y S
et

tin
g

LE
D1

 
 

Lig
ht

 o
n 

wh
en

 p
ow

er
 is

 o
n 

   
  

LE
D2

 
 

Lig
ht

 o
n 

wh
en

 s
en

so
r s

ign
al 

is 
on

SW
1 

 
VR

 lo
we

r l
im

it
SW

2 
 

Op
er

at
ion

 c
he

ck
SW

3 
1 

PC
B 

ch
ec

k 
(D

o 
no

t t
ur

n 
on

) 
OF

F 
 

 
OF

F:
No

rm
al 

ON
:P

CB
 c

he
ck

 
 

2 
Co

m
po

sit
e 

sa
fe

 m
od

e 
tim

ing
 

ON
 

 
 

OF
F:

 1
 s

ec
on

d 
ON

: 2
 s

ec
on

ds
 

 
3 

Lig
ht

 in
te

ns
ity

 w
he

n 
tu

rn
ing

 o
n 

ON
 

 
 

OF
F:

Co
m

po
sit

e 
sa

fe
 m

od
e 

is 
ac

tiv
at

ed
 w

he
n 

ke
ep

 
 

 
ho

ld
ing

 h
an

d 
wi

th
in 

se
ns

or
.

 
 

ON
:N

or
m

al 
lig

ht
 m

od
e 

is 
 a

ct
iva

te
d 

wh
en

 k
ee

p 
 

 
ho

ld
ing

 h
an

d 
wi

th
in 

se
ns

or
.

 
4 

Co
m

m
un

ica
tio

n 
Sp

ee
d 

OF
F

 
 

OF
F:

48
00

bp
s 

ON
:1

92
00

bp
s 

 
5 

Se
lec

t l
igh

t m
od

el 
ON

 
 

OF
F:

 A
L-

D1
00

 O
N:

 A
L-

D2
00

 
6 

Co
m

po
sit

e 
sa

fe
 m

od
e 

OF
F

 
 

OF
F:

Av
ail

ab
le 

ON
:N

ot
 a

va
ila

bl
e 

 
7 

Lig
ht

 tu
rn

ing
 o

n/
of

f t
im

ing
 

ON
 

 
OF

F:
Sl

ow
 o

n/
No

rm
al 

of
f  

ON
:N

or
m

al 
on

/o
ff 

 
8 

Se
ns

or
 d

isa
bl

e 
m

od
e 

ON
 

 
OF

F:
av

ail
ab

le 
ON

:N
ot

 a
va

ila
bl

e 

D2
49

X 
TE

RM
IN

AL
 O

UT
(N

)
1A

0X
QE

**
D2

49
X 

TE
RM

IN
AL

 O
UT

(L
)

1A
0X

QZ
**

Bl
ue

Bl
ue

Br
ow

n

Br
ow

n

Purple

Gray

(T
L 

AL
-D

10
9-

X
1A

0S
UG

**
*In

sid
e 

of
 U

nit
 U

m
bi

lic
al 

ho
se

)

GA
D1

00
0Q

QH

Bl
ac

k

Bl
ac

k/
W

hit
e

Br
ow

n/
W

hit
e

Br
ow

n

*S
ho

wi
ng

 D
24

6 
TY

PE

Red
Orange

4 2

Yellow
Green
Blue

Ye
llo

w
Gr

ee
n

Bl
ue

PO
W

ER
 C

OR
D(

HG
)1

00
0L

1A
10

AX
**

46



AL-D246G-EV
(EVG OTP Unit on B50N only)

BACK TO TOC

G
AD

10
00

SS
C

B
la

ck

B
la

ck
/W

hi
te

B
ro

w
n/

W
hi

te

B
ro

w
n

*S
ho

w
in

g 
D

24
6 

TY
PE

Sk
y 

B
lu

e

Sk
y 

B
lu

e

B
lu

e

B
ro

w
n

B
lu

e

B
ro

w
n

Blue

Brown

Sky Blue

Brown

S/
M

 S
W

 A
SS

Y(
D

24
9)

1G
0B

7M
**

AC
 P

O
W

ER
 IN

10
0V

 to
 2

40
V

TL
 F

U
SE

 to
 A

IR
-S

W
(N

)
1A

0X
Q

X*
*

TL
 F

U
SE

 to
 A

IR
-S

W
(L

)
1A

0X
Q

T*
*

FU
SE

25
0V

/0
.8

A(
T)

D
24

6E
V 

FI
LT

ER
 A

SS
Y

1G
0A

3U
**

AI
R

 S
W

IT
C

H

TL
 E

AR
TH

C
AD

Q
74

**

ER
 L

IG
H

T 
PC

B
 (N

O
 C

O
M

)
1G

08
03

**

TL
 P

O
W

ER
 P

C
B

1A
0S

U
F*

*

SE
N

SO
R

O
FF

M
AN

U
AL

Pi
nk

Li
gh

t G
re

en

Pi
nk

Blue
Green
Yellow

Li
gh

t G
re

en

B
la

ck

G
ra

y
W

hi
te

B
ro

w
n

TL
 L

ED
 M

O
D

U
LE

1A
07

M
A*

*

B
ro

w
n

W
hi

te

G
re

en
B

lu
e

G
ra

y
Pu

rp
le

R
ed

Ye
llo

w
O

ra
ng

e

Brown

White

Green
Blue

Gray
Purple

Red

Yellow
Orange

AR
M

 W
IR

E
1A

08
9T

**

LI
G

H
T 

H
EA

D

YO
R

K

SW
IT

C
H

 B
O

X
PO

W
ER

 B
O

X

G
re

en
/Y

el
lo

w

Green/Yellow

4
5

9

M
M

7

6

B
la

ck
B

ro
w

n

G
ra

y
W

hi
te

D
20

0 
LE

D
 M

O
D

U
LE

1G
09

5T
**

LE
D

 P
C

B
1G

02
7Z

**

LI
G

H
T 

IN
TE

N
SI

TY
 V

O
LU

M
E

1A
07

M
9*

*
R

ed
O

ra
ng

e

Red
Orange
Purple
Gray

PO
W

ER
 U

N
IT

 2
2W

 
1G

08
K8

**

D
es

cr
ip

tio
n 

Fa
ct

or
y 

Se
tti

ng
LE

D
1 

Li
gh

t o
n 

w
he

n 
po

w
er

 is
 o

n 
LE

D
2 

Li
gh

t o
n 

w
he

n 
se

ns
or

 s
ig

na
l is

 o
n

SW
1 

VR
 lo

w
er

 lim
it

SW
2 

O
pe

ra
tio

n 
ch

ec
k

SW
3 

1 
PC

B
 c

he
ck

 (D
o 

no
t t

ur
n 

on
) 

O
FF

 
O

FF
:N

or
m

al
 O

N
:P

C
B

 c
he

ck
 

2 
C

om
po

si
te

 s
af

e 
m

od
e 

tim
in

g 
O

N
 

O
FF

: 1
 s

ec
on

d 
O

N
: 2

 s
ec

on
ds

 
3 

Li
gh

t i
nt

en
si

ty
 w

he
n 

tu
rn

in
g 

on
 

O
N

 
O

FF
:C

om
po

si
te

 s
af

e 
m

od
e 

is
 a

ct
iva

te
d 

w
he

n 
ke

ep
 

ho
ld

in
g 

ha
nd

 w
ith

in
 s

en
so

r .
O

N
:N

or
m

al
 lig

ht
 m

od
e 

is
  a

ct
iva

te
d 

w
he

n 
ke

ep
 

ho
ld

in
g 

ha
nd

 w
ith

in
 s

en
so

r.
4 

C
om

m
un

ic
at

io
n 

Sp
ee

d 
O

FF
O

FF
:4

80
0b

ps
 O

N
:1

92
00

bp
s 

5 
Se

le
ct

 lig
ht

 m
od

el
 

O
N

O
FF

: A
L-

D
10

0 
O

N
: A

L-
D

20
0

6 
C

om
po

si
te

 s
af

e 
m

od
e 

O
FF

O
FF

:A
va

ila
bl

e 
O

N
:N

ot
 a

va
ila

bl
e 

7 
Li

gh
t t

ur
ni

ng
 o

n/
of

f t
im

in
g 

O
N

O
FF

:S
lo

w
 o

n/
N

or
m

al
 o

ff 
 O

N
:N

or
m

al
 o

n/
of

f 
8 

Se
ns

or
 d

is
ab

le
 m

od
e 

O
N

O
FF

:a
va

ila
bl

e 
O

N
:N

ot
 a

va
ila

bl
e 

D
24

9X
 T

ER
M

IN
AL

 O
U

T(
N

)
1A

0X
Q

E*
*

D
24

9X
 T

ER
M

IN
AL

 O
U

T(
L)

1A
0X

Q
Z*

*

B
lu

e

B
lu

e

B
ro

w
n

B
ro

w
n

Purple

Gray

Red
Orange

(T
L 

LI
G

H
T 

PC
B

1A
10

43
**

*In
si

de
 o

f U
ni

t
 U

m
bi

lic
al

 h
os

e)

(J
U

N
C

TI
O

N
 W

IR
E 

A
1A

10
44

**
*U

ni
t c

om
po

ne
nt

)

* N
ot

 u
se

d
  F

or
 C

LE
ST

A 
LE

D

(J
U

N
C

TI
O

N
 W

IR
E 

B
1A

10
45

**
*U

ni
t c

om
po

ne
nt

)

* N
ot

 u
se

d
  F

or
 C

LE
ST

A 
LE

D

8

4 2

Brown

White

Green
Blue

Gray
Purple

Red

Yellow
Orange

Brown

Green
Blue

Gray
Purple

Red

Yellow
Orange

White

Green
Blue

Gray
Purple

Green
Blue

Gray
Purple

W
hi

te

B
la

ck
1

Sk
y 

B
lu

e
Li

gh
t G

re
en

Pi
nk

TL
 P

W
M（

AL
-D

10
9-

X)
1A

0S
U

H
**

Orange
Brown

Red
Yellow

PO
W

ER
 C

O
R

D
(H

G
)1

00
0L

1A
10

AX
**

Ye
llo

w
G

re
en

B
lu

e

TL
 S

EN
SO

R
1A

07
M

B
**

SE
N

SO
R

 P
C

B
1G

02
80

**

G
re

en
EA

R
TH

 W
IR

E
1A

0R
P

M
**

Fi
x 

to
 th

e 
YO

R
K

Fi
x 

to
 th

e 
lig

ht
 h

ea
d 

fra
m

e

Yellow
Green
Blue

Ye
llo

w
G

re
en

B
lu

e

47



DATE CONTENT
22-Sep-22 1st Publish
24-Feb-23 2nd Modify the control PCB for D241, D242, and D245

22-Apr-24 3rd
Regularly update and modify table of contetns and main switch for
D241/D242/D245.

20-Feb-25 4th Regularly update

 REVISION RECORD



BOOK No.1E0957D0-1

TAKARA BELMONT CORPORATION
2-1-1, Higashishinsaibashi,Chuo-ku,Osaka, 542-0083, Japan

TEL : +81-6-6213-5945

FAX : +81-6-6212-3680

Importer in U.S.A.
BELMONT EQUIPMENT, 
Division of Takara Belmont USA, Inc.
101 Belmont Drive, Somerset, New Jersey 08873 U.S.A.

TEL : (732) 469-5000 / (800) 223-1192  

FAX : (732) 356-1035

Importer in Canada
TAKARA COMPANY, CANADA, LTD.
2455 Meadowvale Blvd. Mississauga, Ontario L5N 5S2, Canada

TEL : (905) 816-8965

www.belmont.ca




